5,

Time, Speed and Distance

Y run a 3 km race along a circular 39. xRy, aooﬁauﬂqaﬁnwﬁﬂm

length 300 m. Their speeds are
in the ratio 3:2. If they start together in
the same direction, how many times
would the first one pass the other (the

start-off is —<ounted as passing) ?
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1. The average age of 24 students and the 1. 24 faenf¥al wa fiitua &t sitva 3mg 15 a4
principal is 15 years. When the principal’s ,? | orq fiRaa Y amyg e &t st @, at oftvra
age is excluded, the average age decreases g 1 a4 9 '_5} wrdt g1 o &t amg

by 1 year. What is the age of the principal? fpat 22

S)—Is =1 Suu, =2 TX /S\
SL— ,S‘ "' i

a) 38
b) 40 i ' ) b) 40

939 E\% | |
d 37> e d) 37 5
;.a\’ ' @Y ~3%
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2. Three years ago, the average age of A, B 2. di= a4 ugd, A, B 3R ¢ m Sy 27
and C was 27 years and thatof BandC5  _ ay ot du1 5 9 Ugd B 3R ¢ F 3T ATY
years ago was 20 years. A's present age is 20 74 81 A B adur 3y frat @2

—2 < A —30
2) 30yeers b a) 304 R =3
b) 35 years ¢ w3 M 35 q¢ C *-}b .
\9/40years A =~ '@4 )40 T¢ No
d) 48 years ?z;‘ N d) 48ad
O
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3. Ajit has a certain average for 9 innings.In 3. 9 mﬁ'q’f 7 afora &1 ve fAfda siwa 21

the tenth inning, he scored 100 runs

thereby increasing his average by 8 runs.

His new average is

a) 20
b) 24

\9/28

d) 32

Xt —a T3
gz~

M —4 +3_
1, ~ 3

)O = /c\"?l

zodl Tt # 3B 100 T TN R
39T 3T 8 T q¢ 4TI ITHT 74T T

e




§L*“"\: XA | n A2 + B A— 4w tVy
S

———

-\-U =9¢

[ 7 1/

4. The average age of 8 persons in a 4. waﬁﬁﬁsmﬁaﬁaﬁmﬁ;ﬁgﬁ
committee is increased by 2 years when g¢ Tl ¢ oid 35 a¥ 3R 45 aﬁaﬁan'gir_ﬁt

two men aged 35 years and 45 years are m#mwa’tnﬁmqanaﬁhtla‘i
substituted by two women. Find the  WfRENail #I 3fiwa g wra i

average age of two women. | ’W‘ ~Atx

348 ; G
b) 45 S‘é\ “7( ) 51 </VJ[/ | it
) 51 T‘fo d) 42 / g 4@

d) 42
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5. The average weight of the class of 29 5 29 BE P! Fam HT T T+ 40 fFaruH
students is 40 kg. If the weight of the 21 afe Rrare &1 aw= wfye fFar o, @t
teacher is included, the average rises by ah'aa‘soo U g¢ orar g1 e &1 ae=

500 gm. What is the weight of the fean 22 Stwm= 2
- X
teacher? \ > —Y b A 1 \YD

a) 405 kg
b) 50.5kg

c) kg izb'g 76’;0(  — QX/&\ \ d).-55 kg :,BOXVO'S\Nli XY o
\di/;kg XN =33y,
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